Warmup 2.8

Determine the following limits:
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5. Use your calculator to graph the derivative of y =sinx. What does the graph suggest that the
derivative of sinx might be?



6. Determine the following derivatives:
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7. Given the following graph:

a) If this graph represented the original function, at how

many points would the derivative be undefined?

At how many points would the derivative equal zero?

b) If this graph represented the derivative, at how many points would the original function have
the derivative undefined?

At how many points would the original function have a horizontal tangent?



Derivatives of Trigonometric Functions
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Using identities and differentiation rules, the derivatives of tan x and the reciprocal trigonometric

functions can then be determined.
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Determine :—ifor each of the following:
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7. Determine the x coordinates of any points on the graph of y =sin x where there is a horizontal

tangent.
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10.  What is the maximum slope on the graph y =8sin x and where does it occur?
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Derivatives
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Definition of the Derivative: f’(x) =lim
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Derivatives of Trigonometric Functions:
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Derivatives of Inverse Trigonometric Functions
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